Giving Count

Board 1 4 1094
EastDeals v Q106
None Vul ¢ QJ105 Lead: ¢ Q

& A76
4« KQ63 N 4 852 North indicates they
v AKJ W E v943 do not like the suit
¢ AK4 S ¢ 93 lead by their partner.
*532 *KQJ109

& AJ7

v8752

¢ 8762

* 84
West North East South

Pass Pass

2NT Pass 3NT All pass

Declarer wins and leads a club towards Dummy. North ducks
and South plays low to indicate an even number of clubs. It is
important to give count, because if South has the Ace, they can
now determine when to take the trick.

It looks like South has two clubs, therefore by deduction East
has 3. Therefore North should hold up until the 3rd round of
clubs. This means East can no longer get to Dummy to enjoy
the last two clubs !

Board 2 4643
South Deals v A Lead: v K
E-W Vul ¢ KQJ75
&]J987 This is a natural lead
4 952 N 387 despite the suit being
v KQJ10 W E v 7432 bid by South.
¢ A63 s ¢ 982
«#Q43 #1065 East treats this as a
& AKQ10 request for count and
v 9865 plays the ¥ 2 to show
¢ 104 an even number.
& AK2
West North East South Because Declarer did
1w not show further
Pass 2¢ Pass 3NT interest in hearts, and
All pass you can now see

Dummy, West can
easily establish
partner has a 4 card
heart suit.

When Declarer starts to play on the diamonds both East and
West can give count. If East plays the ¢ 9, West can establish
they have an odd number in that suit ( it must be 3).

The only sure entry to dummy was taken by the opening lead
and West can now work out that South has only two diamonds,
so knows they only have to hold up one round. This play means
EW can go 1 light so long as West does not play on clubs after
winning their 3 hearts. If West does not hold up, EW will make
the contract.

NB: Once West gets the count on partner's hearts (4) and
diamonds (3) they can work out that East has 6 cards in spades
and clubs.

Board 3 & A32 Lead: v 2.
SouthDeals ¥ Q98
E-W Vul ¢+ AJS8 Dummy plays the v 8.
& Q842 Because East cannot
4 K74 N 4 J65 beat this card, they
v Al0432 w  c INEE give count by playing
¢ 76 S ¢ KQ932 thev 5toshowan
&#J65 #1097 even number.
4 Q1098
vy KJ6 This should be very
¢ 1054 obvious to West that is
& AK3 is count and not
West North East South attitude, as West
1INT would have played the
Pass 3NT All pass King if they had it.

After the play of clubs, East should signal they want a diamond
(but must not discard a spade in case their Jack comes good).

When Declarer plays ¢ A then small to the # Q, West gets in
with the # K. They do not continue the hearts, so plays a
diamond. East wins with ¢ Q and returns a heart.

West plays another diamond. If Dummy ducks, East wins with
the ¢ K and now plays their # J to take the contract light. If
Dummy takes the second diamond trick, East has the ¢ J as an
entry to still take the contract light. If NS play the spades
differently, they have a chance to make their contract

Improver classes
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Board 4 » 1086 Lead: v K
WestDeals ¥ AK963 This contract may end
Both Vul ¢+ Q9 up in 3 % if North bids
& KJ4 again.
s K7 N 4 J954
vQJlo4 w eI 87 North has chosen to
¢+ J4 S ¢ AK62 ask for count as they
#AQ965 #1073 are hoping partner is
4« AQ32 short in hearts for a
v52 ruff.
¢ 108753
& 82 South plays the v 2
West North East South North now knows
1s 1lv 1e Pass partner has 1,2 or 4
2% All pass Hearts

At trick 2, North plays
the v A. Declarer follows, so now North knows partner has 2
hearts (if they had 4, West would ruff the second heart).

The 3rd heart from North is low, showing suit preference, to
indicate they want a club return. South obliges, West plays
low or their # Q and North wins & K.

North now knows EW is out of clubs so now should switch to
spades or diamonds. There is a diamond, spade and another
club to win for 1 light.

Because North asked for count in hearts, they are sure to take
this contract light.
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Board 5 4 A9873
North Deals ¥ QJ10
N-S Vul ¢ KJ93
2Q
4 J64 N 4 102
v92 W E v AK65
¢ AQS8 s ¢ 642
& J10754 #9862
4 KQ5
v8743
¢ 1075
& AK3
West North East South
1e Pass 2NT
Pass 3¢ Pass 4 4
All pass

Giving Count

Lead: v K.

East makes a safe
lead and decides to
ask for Count.

As soon as Dummy is
on the table East can
see 8 hearts in total.

When West plays low,
East determines their
partner has 2 or 4
hearts.

North was asked to
play their Q¥ on the
lead to make it look as

though they had a singleton !

North may attempt to mislead the opposition by playing the v Q

on the first trick !

East can now think their partner has 4 hearts, therefore must
hold the JT9 so can safely continue hearts by playing the Ace..

As soon as North plays another Heart, East can spot the false
carding and now knows their partner can only have 2 Hearts.
They play another Heart for a ruff but has no suit to show for
their partner to return, so West ruffs and plays the ¢ A to ensure

they take the contract light.

Count means Declarer's attempt at bluffing did not work !

Board 6 4972
EastDeals ¥ 86
E-W Vul ¢J932
& A1096
4 KQJ1l0o8 N 4 A65
vQ92 W E vy AKJ105
¢ Q104 s ¢ 7
& Q5 &»K732
4 43
v743
¢ AK865
)84
West North East
lv
1e Pass 2%
49 All pass

Lead: ¢ K

The lead is to have a
look and get the count.

By listening to the
bidding, they know of
at least 9 cards in
Declarer's hand.
Therefore Declarer is
will hold either 3-1, 2-

South 2, or 0-4 in spades
Pass and diamonds. The
Pass odds are a 3-1 or 2-2

Asking for count by South will be useful, because if partner
shows 3 diamonds, it is safe to play the ¢ A. If North shows an
even number (2 or 4 cards), then it is too risky to continue the
suit, especially when they see the ¢ Q in Dummy.

Board 7 4109763
South Deals ¥ J South may consider
Both Vul ¢ J97 sacrificing in 4 & but
&#QJ52 the vulnerability may
s AJ4 N 5 frighten some.
v 8543 W E vy AK972
¢ A82 S ¢ 104 Lead: & K.
& AT74 & K10963
4 KQ82 This is a natural
v Q106 lead, but North
¢+ KQ653 treats it as asking for
&8 count and plays the
West North East South & 9. This indicates
1e¢ an odd number so
Dbl 1e 4v All pass must itis not a 4-

card suit and must
be a 5-card suit.

South now knows they cannot lead another spade when they
get in, as Declarer cannot have any more.

EW can wrap up 4 v, but if South plays another spade when in
with the v Q, they will gift the # J to EW who can then pitch a

losing ¢ in East's hand and make 5.

Improver classes

Board 8 & AK654 Instead of South

WestDeals ¥ AQ3 bidding 3 # they may

None Vul ¢+J98 do a Bergen or Jacoby
&Q5 raise, but the final

4 108 N & J9 contract will be the

v 10876 W E v542 same.

¢+ Q542 s ¢ K763

#1063 & AK98 Lead: # A
4 Q732 You could lead the # K
vy KJ9 for count, but with only
¢ A10 4 of the suit, you may
*J742 prefer to see if partner

West North East South has the # Q so asks

Pass 1le Pass 3e for attitude.

Pass 44 All pass

After the lead, EW can
see the shape of
Dummy, but knows

little about Declarer other than they have at least 4 or 5 spades.

This hand is all about giving count while Declarer plays their
spades, then hearts and clubs, in case it is useful and if not, a
good practice !.

As you get more adept at count, West will soon know their
partner has 2 spades, 3 hearts and most likely 4 diamonds
based on the lead, so by inference, that leaves them with 4

clubs.

East, on the other hand, will know partner also has 2 spades
and 4 hearts. It may take a little longer to find out about the
clubs and diamonds, but likely to be 3-4 or 4-3.

Did South sit and watch the cards and try to work out all the
hands during play ?
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